A

Mr. Stott is a businessman. He has just has a heart attack (сердечный приступ) and is now in a hospital. Mr. Stott works very hard, both at office and at home. He also worries (беспокоится) about his work. He drives a big comfortable car and never takes any exercises. He is married with two lovely children (= he has a wife and two lovely children), though he doesn’t see them very often. The last time he had a real holiday was three years ago.

B
George Smith smokes 40 cigarettes a day. He gets up late every morning, and drives to a café in the next street. He has a big breakfast and takes three spoons (ложки) of sugar in his tea. During his lunch time he has 3 or 4 pints of beer (пиво) and a big lunch. He never has any fruit after his lunch, because he prefers to have a cake or sweets. He doesn’t walk much, he usually drives. He is getting fat and coughs (кашляет) a lot.
C

John Brown gets up very late and is always late for his work. So, he is usually in a low mood (в плохом настроении) and nervous. When being nervous, he smokes a lot and drinks much coffee. When drinking coffee, he eats many sandwiches and hot-dogs and never has a proper dinner. Having had much coffee, he can’t go to bed on time and watches TV till midnight (полночь). He doesn’t sleep well and can’t get up on time. He has a headache and is late for his work. 
